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COMMON WALE YERRLY EAAMNATION - 2024
* Gtandird 7 sagtin | ..'5...'.5:'.'j.-ui'-'--ni;u]
MATHEILTIGS

Thiise § 000 i s ’ Fard - | Yarks 169
I Ghaosa the corect answer; 1471514
VAOUA R 18) = 6 and /= (1,5) then n(f) I s

) 1 b 7 6% 46
2. Ms  (mod 100)
fij 1 by 7 £) % d) 4
5 GivenFysA,F,=800dF =F, +F, , thenF,is
) 4 by & 6) % 4 11
A, N7 = (2 ¥ 1) = (1= 1)? represents a funclion which is
f) linear h) eutic
¢) reciprocsl o) quadratic
a3 Tu el
6577 7,,/72] T b ar - v
0 ¥ R T N 7
(21y~21) 3y° ¥
6, Graph ofthelinear cquationisa ___ ' '
a) sltraight line b) circle
) parabola d) hyperbola
7, Whis a2 %2 matrix, Bis a 2 % 4 matrix, how many columns does AB have
a) 3 b) 4 c)'2 - d)5
8, Ifin ALEC, DEJ|EC, AB = 3.6 cm, AC = 2.4 tm and AD = 2.1 cm, then the length of
AE I8
a) 1.4cm b) 1.8cm c) 1.2cm d) 1.05¢cm
0, The slope of the line joining (12 3),(4,2)i is 7 Jthevalueof'a’is
a) 1 b) 4 c)5 d) 2
10. Atangentis perpendicular to the radius at the
a) centre b) point of contact
¢) infinity - d) chord -
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9 AN % Maths
1. facol 0+ b cosac O = pand b ot 0 + g cosec 0 = g, then p? = 18 equal o
a) a? =~ b? b) b7 - a? ¢) a7 4 b’ d) b=

12. The total surface area of cylinder whose mdlu'sln L ofits height s

2

Bnh
a) =5~ sa.units ‘ b) 24nh? 89.units
2 !
c) Bnh == 8q.units d) »@%}3—- 641.units ' i
13. The range of the first 10 prime number Is
a) 9 by 20 ¢) 27 d) 5
14. The average of first n natural numbers is ’ ‘
nin+1 n n+1
a) L-lz b) 7 =5 § d) n
Part-Il
Il. - Answer any 10 questions. (Q.No.28 Is compulaory) 10x2=20
1. Arelation R is given by the set {(x, y) Jy=%x+3,%x ¢ {0,1,2,3,4,5)). Determine its
domain and range.

18. 1ff(x) =x2 -1, g(x) =x~2 ,find aif gof(a) = 1
17. Solve: x4 - 13x2 + 42 =0

18. If Ais of order p x q and B Is order qxr, whatis the order of AB and BA?
19 Show that APST ~ APQR

2
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J X Maths.
A FIndAX T And AXAITA = (i, n); 1 =)
22, Find the slope of the line joining the polnls (8in0, ~cos0) and (<sin0, cosn)
20 The it the form of a dght trlangle hag s foot at (10, 3). The inclination of the hil
to the ground la 46°, Find the equation of tha hill jolning the foot and top.
24, Find the angle of elevatlon of the top of a lower from a point on the ground, which
1 30m away from (he fool of a lower of helght 1o./3 m
26, Analuminium aphere of radius 12 em ls malted to make a cylinder of radius 8 cm.
Find the helght of the cylinder,
26, Find the dlameler of a sphere whose surface area |s 154 m?
27, Find the range and co-officlent of range of 63, 89, 98, 125, 79,108, 117 and 68
28. Find the number of spherical lead shots, each of dlameter 6 cm that can be made
from a solld cubold of lead having dimenslons 24 ¢m x 22 ¢cm x 12 cm
‘" Part - Ill |
. Anawor any 10 questions, (Q No.42 Is compulsory) 10x5=50
20, A={xaN/1<x<4},B={xe W/05x<2}and0_ {x e N/ x < 3} then verify that
AXx(BUC)=(AxB)uU (AxXC)
30. LetA={0,1,2,3}and B = (1,3, 5 7,9} be two gets, LetfiA— B be a function given
by 0
f(x) = 2x + 1, Represent thie functlon
) byArrow dlagram
i) Table form

lil) Set of ordared palr -
iv) Inagraphical form )

31, Find the sum of 93+ 103 ......... 213 4

32. Find the values of m and n Ifits a perfect square:
x4 = 83 4 mx2 4+ nx + 16

B ’ '
33, Aw,L1 2].ShowthatA2-5A+7lz=0 _

34. State and prove Pythagoras theorem:

35, Find the equation of the perpendlcularblsector of the line jolning the points
A(=4, 2) and B(6, ~4)

36. Find the area of quadrilateral whose vertices are at (=9,0), (-8,6), (-1,-2)and
("'ﬂ!""a) ' .
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37,

38.

39.

40.
4.

42

43.

44,

4 - X Maths

A man is standing on the deck of a ship, which is 40m about water level. He
observes the angle of elevation of the top of a hill as 60° and the angle of
depression of the base of the hill as 30°. Calculate the distance of the hill from the
ship and the height of the hill. (3 1.732)

The radii of the circular ends of a frustrum which is 45 cm high are 28 cm and 7
cm, Find the volume of frustrum.

A capsule is in the shape of a cylinder with 2 hemisphere stuck to each of its ends,
If the length of the entire capsule is 12 mim and the diameter of the capsuleis 3
mm, how much medicine it can hold?

Find the co-efficient of variation of 24, 26, 33,37,29 and 31 :
Two dice are rolled once. Find the probability of gettlng an even number on the

first die or the total of face sum 8. ‘

T+77T+777+........... Find the sum of this series.

. ' Part-IV :
‘Answer all the questions. -\ 2x8=16.

a) Constructatriangle similarto a givén triangle LMN with its side equal to % of

_ _ . ) , 4
the corresponding sides of the triangle LMN. (Scale factor 5 <1)

(OR)
b) Draw a circle-of diameter 6 cm from a point P which is 8 cm away from its
centre. Draw the 2 tangents PAand PB tb the circle and measure it.
a) Draw the graph XY= 24, X, Y >0, Find,
i) YwhenX=3
i) XwhenY =6,
| (OR)
b) Draw the graph for the quadratlc equatlon and state their nature of solutlons
X2=9x+20=0 ‘

oty e ke

_ o _ . m CamScanner
Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.c


https://v3.camscanner.com/user/download
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

